Outdoor Folding

Adirondack Chair
Instruction Manual




Yo

Thank you for choosing us.

We hope your new furniture helps create a gathering place

for you and your loved ones to enjoy for many years to come!

Before You Start

» Please read all instructions carefully.
= Retain instructions for future reference.
= Seperate and count all parts and hardware.

- Reaq through e?ch step carefully and follow the prfper order.

» We recommend that, where possible, all items are assembled
near to the area in which they will be placed in use, to avoid
moving the product unnecessarily once assembled.

= Always place the product on a flat, steady and stable surface.

= Keep all small parts and packaging materials for this product

away from babies and children.



PRODUCT ASSEMBLY

O

NANN

S
4/00
&




PARTS LISTS

o Right leg

G Left leg g Right arm

- 1PC 1PC 1PC
@ Short o Long
IF ]
— L‘..:.:.t_a_z.:.l..t.:‘a
1PC 1PC| 1PC
o 4 in 1 Cup Holder Tray
2PC 1PC
#1 #2 #3 #4 #5
M6 x 80mm M6 x 60mm M6 x 50mm , BOLT M6 x 60 mm
BOLT BOLT BOLT @ Screw
(——“«§
MMM | 6D O IIID ) =)
O O
2PCS 2PCS 4PCS 2PCS 2PCS
#6 #H7 #8 #9 #10
M6 x 50mm M6 WASHER M6 NUT SPANNER ALLEN KEY 4S
Screw
i v,
&
@mp @, @:
6PCS 10PCS 8PCS 1PC 2PCS




Assembly Procedure

Step 1

a] ; M6 x S0mm
Screw

Assemble Part H to the Part B & C
by using Hardware#6

o[ Rpe

';) -
\ ~\ 7
— <
“

B

C



Assembly Procedure

Step 2
m— - M6 X 60 mm

Assembly PartA (Seat Panel)to the finished Part in Step 1,
by using Hardware#2,Washer#7,Nuts#8
Meanwhile,Tighten the Chain Bolts On Both Legs




Assembly Procedure

Step 3

O
Assembly Part D(Right Arm) to the Right Leg
Assembly Part E(Left Arm) to the Left Leg

#4 BOLT

by using Hardware#4,Washer# 7




Assembly Procedure

Step 4
M6 x 80mm

Assembly Part F(Back Panel) to the Arm rests
by using Hardware#1, Washer#7,Nuts#8




Assembly Procedure
Step 5

M6 x 50 mm
Screw

Connet Part G to the Seatpanel using Hardware#6

_ M6 x 60 mm
Screw

@] ) MGBXO?_QI' mm

Secure the Upper-hole of Part | to the backpanel Using Hardware#5

Secure the Lower-hole of Part | to the seatpanel Using

Hardware#3,Washer#7,Nuts#8




Assembly Procedure

Step 6
W R —

Secure Part J (4 in 1 Cup HolderTray) to the Right Armrest,
by using Hardware#3,Washer#7,Nuts#8




Assembly Procedure

Step 7

Adjust this Reclining Chair.




Assembly Procedure

Step 8

Fold and Unfold This Reclining Chair

Push Back the Stool first, Loosen and Take off the Chain Bolts on

Both Legs then fFold Inwards The Chair Back and Seat Gently.

Please make sure to use dowels
to completely connect the chair
with the seat

Please make sure that

the plugs are not stuck

IN the middle






